Guide Rail Brackets Guide Rail Brackets

Standard Type Offset Type
Conveyor Guide Rail CGK CGKL No.70 Conveyor Guide Rail CGH CGHL No.70 © ol o
Brackets (W=50/60)  (W=100) o. © e (W=50/60)  (W=100) L@t
= Standard Type —©l © Offset Type ¥ )
= g _ .28 S,
=3 % Eex gofk‘f’t Head 08 éid . Hex Socket Head Cap Screw Arrow View A g
§ = = | Wit 6 Arrow View A = | ¢ ) Mdx12 60 A;x Socket Set Sorew g
. ! — i /
<) ¥ ) Spring Washer Hex Socket Set Screw ] ‘ f,mrm Hasher WA x5 (Fat fead) =
=] M4 M4 x 5 (Flat Head) f _ - [
E L Type Work Guide for Conveyors g M4 x5 (Flat Head) " 2 EJP—HL e Work Guide for Conveyors — &5 E
‘C<D g w0~ CGL 9] o 1 No.55 L~ S — | I §
S o - HETEERT= N u < =
7] No.55 — £ R i i 06 . £ @ ﬂ =
06 Arrow View A Ex U by %
) HexNut /o0 {5 [ Hex Socket Head w — 2-M5 25| | 120 43
Hex Socket Head Cap Screw M3x8 Arrow View A 2-M5 Hex Socket Head Cap Sorew] g3 4 Cap Screw M3x8 |12, Hexagon Socket Set Screw Hex Socket Head Cap Scfew 37 | 1.5 Hex Socket Head Cap Screw
Spring Washer M3 w 2-M5x12 Spring Washer M3 M3x5 2-M5x12 2-M5x8
12 Hex Socket Head Cap Screw gpw;g Washer -1 m& Sprin
ol 3 / M35 ) S
A 1 ~ 1
IR e — 2 : ©]| ©
SEE = o0 _T
G o i = L - 2 No.80
= A g : © No.50 =L Hex Nut 2-M6 ‘ 08
Hex Nut — ! ' 28 Hex Socket Hoad 20_| || .F310 \ Hex Socket Head Cap Screw 2-M3x6 Arrow View A
M3 - lex Socket Hea : X 13 H ket Set
iJ» 15 2 Hex Socket Head Cap W Arrow View A Cap Screw 2-M6x10 30 1.5  Spring Washer 2-M3 gex gocket Head > 4 Ma);?oc et Set Screw
= —— Screw M4x12 Spring Washer 2-M6 ap Screw M4x12 1
Hex Socket Head Cap Screw 2-M3x10 30 Spring |13, .4 W Spring Washer M4
Spring Washer 2-M3 Washer M4 11 A _EE—— ol
A - P rs
- Wt —— % « ;jL J | e o
o [+ f
= o Olle = Hex Nut 3
2-M6 20 L 012 Hex Socket Head
[=—==—+—t=—"= \_Cap Screw 2-M6x8
42 1.5 i N
Material: 304 Stainless Steel - Spring Washer 2-M6
Materials: 304 Stainless Steel | 1.5 32 O Number 55-80 have different bolt size for the conveyor mount part, Hex Socket Head Cap Screw 2-M6x12
@ Number 55-80 have different bolt size for the conveyor mount part. Hex Socket Head Cap Screw 2-M6x12 47 Select an appropriate bolt according to the conveyor you are using. M6x12 Spring Washer 2-M6
mm Select an appropriate bolt according to the conveyor you are using. Spring Washer 2-M6
Part Number Alterations Code Spec Part Number Alterations Code Spec
Type No. W Change to Product with Clamp Lever Type No. L Change to Product with Clamp Lever
55 50 55 50
CGK CGH
7
W=50/60 0 60 W=50/60 0 60
80 80
Hex socket set screws are
35 Hex socket set screws are replaced with the clamp lever 35 [eblaedluiiineldan
caKL 70 100 oL |(orange, CLDMC4-8-M equivalent). CGHL 70 100 cL |lever Orange,
W=100 N W=100 CLDMC4-8-M equivalent).
80 @ Not applicable to CGK55 / CGKL55 80 @ Not applicable to
CGH55 / CGHL55
| Part Number | Part Number
Example
4 Example CGK30 /| p CGH55

| Part Number | PartNumber |- No. |- (1) | Part Number | PartNumber |- No. |- (1)

/| Alterations CGK - 70 - CL /| Alterations CGH - 70 - CL

1290 @ MiSUMi There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time. 1291



